Vanity

INSTRUCTION MANUAL

e 2018 Late Edition ——




STATEMENT

BRI ERRNN=AEES iatE~m. FalfmH
HIBCE RiATE AR XEFRAENE | BEBOER.
RSB I8 IS NS R BRI —F SRR,

A BB BIE#V3021DLR K V3621 DLR BiAEAE& M
H%RIE  NREWIAZ2%ZABI T m . TEdiES
HEARE , BRAMENEELE, FE—FAAIS™ MR
B, (X% | FRRIIREE,

@
|
@[‘T: 3 A

|

STATEMENT ——



NOTICE

® Please read this assembly guide thoroughly and carefully before
assembly

® Please ensure your assembly area is clear of any debris or sharp objects
which could scratch or damage the cabinet.

® Our cabinets are treated with paint, which can be fire hazardous, please
avoid storing in areas with high temperature or near the fire.

® Please take caution with small parts inside the package, losing or
misplacing them could affect your overall assembly

® We recommend using power tools (ie: drill, pneumatic nail gun, etc) for
your assembly. This will facilitate your assembly experience.

® In event of missing or damaged/defective parts not caused by
wear-and-tear, please contact our authorized dealer for assistant and
we apologize for any inconvenience.

® |f you are not a professional or have no prior experience in cabinet
assembly. We advise excessive caution and follow closely to this
assembly guide.

NOTICE



NN
AN

MATERIAL LIST

N

Face Frame

Drawer Face

N

M

~ \
~—

M

Side Panel Back Panel
N
\\
S~
Bottom Panel Door Face ;

m/

Drawer Bottom Panel Drawer Side Panel Drawer Back Panel

MATERIAL LIST ——



MATERIAL LIST

Quantity
NO. ltem
V24| V30| V36 |VDB12(VDB18| V30D | V36D |V48DLR
1 Drawer Glide 01010 6 6 4 4 12
2 |Drawer Glide Connector] O | O | 0 6 6 4 4 12
3 BeakBrackets | 0 | 0 | 0 6 6 4 4 12
4 | SupportBrackets | 4 | 4 | 4 4 4 4 4 4
5 Door Hinge 414141 0 0 2 4
6 |L-Shape ConnectorClipl 4 | 4 | 4 4 4 4 4 4
7 | 11/8'PhiipsScrew | 4 | 4 | 4 | 4 4 4 4 4
8 | 5/8'PhilipsScrew | 20 | 20 | 20 | 24 | 24 | 22 | 22 30
9 | 1/2'PhilipsScrew | 24 | 24 | 24 | 24 | 24 | 24 24 24
10 | 1/4'PhilipsScrew | 0 | O | 0 | 12 | 12 8 8 24
11 Bumpers 41414 6 6 6 8 16
} | :"“_H
4,
s 9 10 1

MATERIAL LIST——



INSTRUCTION

STEPTER

P> Place the face frame in a face down position
to a flat surface. Secure the L-Shape
connector clip with 1/2" Philips screws to
the pre-drilled holes # @

D GHECES TRETATE , AEERLE
WHEERAE , B2 BME4T50 1
DREE , AERHA= ERARETT

STEPTEX

\

P As show in this picture, slide the side panel
into the face frame's groove located on the
left or right. Then, secure the side panel to

the L-shape connector clip #@using 1/2"
Philips screws. Repeat this step for the
other side panel.

D ETRIREEESER , FHEAGHENRES
528 0 BY2 BLEUTEENR ; FE
BES—RERR S R




— INSTRUCTION

STEPTEN

D After assembling the two side
panels, insert the bottom panel
through the side panels' groove
(see illustration). Make sure the

bottom panel is pushed all the way

to the end.

P REREHURE , RERR (08T ) | kS
MURIEA , HBHNES , EeiRAER

P Now slide the back panel to the back
grooves of the side panel. Make sure its
fully inserted, then nail the side panel to the
back panel. (About 1/6 to 1/4 inches from
the end of the side panel, see picture #@).

We suggest three nails per side panel.

P EiRERERS  BHER (0B ) | #AN
1RER , B : BREEIE  FRERERA
Hep | RIERIOFm(E (BURAS-7mm )
TTNESRO6ET (BN =HRENT )

2




INSTRUCTION

STEPTHE

STEPTIA

P (Optional) Locate the bottom of the

bottom panel shown on €, using a
L-shape connector clip, connect the
center of the bottom panel and back
panel like the illustration above.

b ieERETRAE  fEOUEL (IE

AERARETEL ) BREERERSER
GBI

Yf"r 3

P Turn the cabinet box to the standing

position. Secure the top four corners using
the "Support Brackets". Use 5/8" Philips
screws, Two screws per bracket will be
enough.

P BHRITE  SEV , EDSEREHEE

&, O BT, fEHSHEATRTE , B
5/8" BATIEESHER , LN @ BRA
Mg |, ATl eR

3




INSTRUCTION

STEPT KA

P After securing the four corners with brackets. Attach the back bracket to the
pre-drilled holes on the back panel.Then, as shown on #@slide the U-shape end
of the drawer glide into the back bracket, adjust the depth accordingly. Lastly,
secure the front end of the drawer glide to the face frame using 5/8" Philips
screws. Make sure the front of the drawer glide is recessed approx. 3mm from
the face frame. (Not flushed with the face frame)

P MEEER , REO B BENEEARNERRSERN ; A5 0 Bk

 FENERUEBRAGEARN , RESREARERY | &E0 0 B, B
5/8" BEFTRIBMSHIEEE , BHENRLEIEINAEALI3mm

Picture shown is the complete set of the drawer
glide. Part shown as semi-transparent indicates

this object is movable, which will help in
identifying in the following step.

ERMERENTEE , LEBRARTLM
T, RN ARBIN A




INSTRUCTION

STE PT ﬂ @ Assembling the drawer box

M

P After securing the drawer glides to the cabinet box. Assemble the dove-tailed drawer box. Properly secure the dove-tailed drawer box
panels with each other. Attach the drawer glide connectors underneath the drawer box as shown on #B (Two connectors per drawer box
as shown on #C). Secure the connectors using screws at the location shown #(@) and #@on picture B.Then, position the hole (Picture C,
#@3) on the back of the drawer box and insert it to the movable glide mentioned in Step 7 (Refer to Picture D, #@). Once inserted, push
the drawer box all the way into the cabinet box, the drawer assembly is complete.

P EENSHERETRE SRR  MERAREEE , NEARRAHHESERENT ; SASHIHRERESL , MRS (e
BRveEbs ) | DAITERAED , QUEREERAR/MBL]ERE (ZHHEXNIER ) | RIS B RRERE S | 2RECT
BRSO SEDFEBRRIRIEMEG (0T , BEESTEPT 7 fi8NE% ) , BORAOT , B— TR , EltEhEE
HHEAW | Rk




INSTRUCTION

STEPTER

P> Last step, install the doors to the face frame

using provided hinge shownon# @ and
#@, Using 5/8" Philips screws, attach one
end of the hinge to the pre-drilled hole on
the door and attach the other end of the
hinge to the pre-drilled hole on the face
frame.

P HTRE—H  TRIR , SRE O e

IR, FI5/8" Bt IRER | BER
B O Kt s —nSRERERIRMAS/8" B4
T RERE. El PRERE T

P Atfter finishing all other steps, look for

the Toe Kick board inside the package,
use nail gun or adhesive to attach it to
the bottom of the cabinet box as
illustrated. Congratulations! You have
finished assembling your vanity
cabinet!

P LERFTEIRERRHSITAE | FERAK

RIS , T RARR A SR T ok
& WRREE, BN nER !







